General Info		
Number:	PROJECT NO. 99-21-08	
Description:	BRIDGE REPAIRS	
	OHIO TURNPIKE EASTBOUND OVER MAHONING AVENUE (C.R. 18), M.P. 219.8	
	MAHONING COUNTY, OHIO	
Deadline:	MARCH 23, 2022 @ 2:00 P.M. (EASTERN TIME)	
	(Estimated Cost: \$200,000.00)	
Bids		
Business		Bid Total
Suburban Maintenance & Construction, Inc.		\$154,910.00
The Ruhlin Company		\$186,257.00
APBN Inc		\$254,750.00

SUBURBAN MAINTENANCE & CONSTRUCTION

GENERAL	(Ref. Nos. 1 - 3	3) MP 219.8				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1	LUMP	\$6,000.00	\$6,000.00
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$10,000.00	\$10,000.00
3	624	MOBILIZATION	1	LUMP	\$9,000.00	\$9,000.00
					Total:	\$25,000.00

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
4	513	STRUCTURAL STEEL MISC., PENCIL ABRASIVE BLASTING, GRINDING AND NDT, AS PER PLAN	1	EACH	\$250.00	\$250.00
5	513	STRUCTURAL STEEL MISC., DRILLING STRUCTURAL STEEL, GRINDING AND NDT, AS PER PLAN	1	EACH	\$250.00	\$250.00
6	513	STRUCTURAL STEEL MEMBERS, LEVEL 1 OR LEVEL UF, AS PER PLAN	1	LUMP	\$55,000.00	\$55,000.00
7	513	STRUCTURAL STEEL MEMBERS, MISC.: DRILL STRUCTURAL STEEL	1	LUMP	\$1,600.00	\$1,600.00
8	SP 514A	FIELD PAINTING OF EXISTING STRUCTURES - SYSTEM OZEU, AS PER PLAN	1	LUMP	\$38,000.00	\$38,000.00
9	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
10	SP 525A	PROTECTIVE CLOTHING/ EQUIPMENT SET	3	EACH	\$50.00	\$150.00
11	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$500.00	\$500.00
12	SP 525A	PAINT WASTE/ HAZARDOUS WASTE CLASSIFICATION, HANDLING, AND DISPOSAL	1	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$2,000.00	\$2,000.00
14	849	DAMAGE ASSESSMENT	1	LUMP	\$5,000.00	\$5,000.00
15	849	SURFACE PREPARATION	1	LUMP	\$5,000.00	\$5,000.00
16	849	REPAIRING DAMAGED MEMBERS BY GRINDING	8	HOURS	\$20.00	\$160.00
17	849	STRAIGHTENING DAMAGED MEMBERS	1	LUMP	\$20,000.00	\$20,000.00

Total: \$129,910.00

TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 17) ------

\$154,910.00

THE RUHL	IN COMPANY					
GENERAL	(Ref. Nos. 1 - 3	3) MP 219.8				
Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1	LUMP	\$1,000.00	\$1,000.00
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$70,003.00	\$70,003.00
3	624	MOBILIZATION	1	LUMP	\$4,000.00	\$4,000.00
					Total:	\$75,003.00

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
4	513	STRUCTURAL STEEL MISC., PENCIL ABRASIVE BLASTING, GRINDING AND NDT, AS PER PLAN	1	EACH	\$1,300.00	\$1,300.0
5	513	STRUCTURAL STEEL MISC., DRILLING STRUCTURAL STEEL, GRINDING AND NDT, AS PER PLAN	1	EACH	\$1,500.00	\$1,500.0
6	513	STRUCTURAL STEEL MEMBERS, LEVEL 1 OR LEVEL UF, AS PER PLAN	1	LUMP	\$25,000.00	\$25,000.0
7	513	STRUCTURAL STEEL MEMBERS, MISC.: DRILL STRUCTURAL STEEL	1	LUMP	\$1,785.00	\$1,785.0
8	SP 514A	FIELD PAINTING OF EXISTING STRUCTURES - SYSTEM OZEU, AS PER PLAN	1	LUMP	\$20,000.00	\$20,000.00
9	SP 525A	WORKER PROTECTION	1	LUMP	\$13,000.00	\$13,000.00
10	SP 525A	PROTECTIVE CLOTHING/ EQUIPMENT SET	3	EACH	\$120.00	\$360.00
11	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$2,288.00	\$2,288.00
12	SP 525A	PAINT WASTE/ HAZARDOUS WASTE CLASSIFICATION, HANDLING, AND DISPOSAL	1	LUMP	\$7,500.00	\$7,500.0
13	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$10,000.00	\$10,000.0
14	849	DAMAGE ASSESSMENT	1	LUMP	\$1,800.00	\$1,800.00
15	849	SURFACE PREPARATION	1	LUMP	\$1,781.00	\$1,781.0
16	849	REPAIRING DAMAGED MEMBERS BY GRINDING	8	HOURS	\$180.00	\$1,440.0
17	849	STRAIGHTENING DAMAGED MEMBERS	1	LUMP	\$23,500.00	\$23,500.0
					Total:	\$111.254.0

TOTAL BID AMOUNT	(REE NO 1 THRU REE NO 17)

\$186,257.00

Ref. No.	Item No.	3) MP 219.8 Description	Quantity	Units	Unit Price	Extension
Nel. NO.			Qualitity			
1	IB.ART.6	PREMIUM FOR CONTRACT PERFORMANCE BOND AND PAYMENT BOND	1	LUMP	\$20,000.00	\$20,000.00
2	SP 614	MAINTAINING TRAFFIC	1	LUMP	\$40,000.00	\$40,000.0
3	624	MOBILIZATION	1	LUMP	\$40,000.00	\$40,000.0

Ref. No.	Item No.	Description	Quantity	Units	Unit Price	Extension
4	513	STRUCTURAL STEEL MISC., PENCIL ABRASIVE BLASTING, GRINDING AND NDT, AS PER PLAN	1	EACH	\$3,000.00	\$3,000.0
5	513	STRUCTURAL STEEL MISC., DRILLING STRUCTURAL STEEL, GRINDING AND NDT, AS PER PLAN	1	EACH	\$1,700.00	\$1,700.0
6	513	STRUCTURAL STEEL MEMBERS, LEVEL 1 OR LEVEL UF, AS PER PLAN	1	LUMP	\$28,000.00	\$28,000.0
7	513	STRUCTURAL STEEL MEMBERS, MISC.: DRILL STRUCTURAL STEEL	1	LUMP	\$2,000.00	\$2,000.00
8	SP 514A	FIELD PAINTING OF EXISTING STRUCTURES - SYSTEM OZEU, AS PER PLAN	1	LUMP	\$55,000.00	\$55,000.00
9	SP 525A	WORKER PROTECTION	1	LUMP	\$1,000.00	\$1,000.00
10	SP 525A	PROTECTIVE CLOTHING/ EQUIPMENT SET	3	EACH	\$50.00	\$150.00
11	SP 525A	ESTABLISH REGULATED AREAS	1	LUMP	\$1,000.00	\$1,000.00
12	SP 525A	PAINT WASTE/ HAZARDOUS WASTE CLASSIFICATION, HANDLING, AND DISPOSAL	1	LUMP	\$1,000.00	\$1,000.00
13	SP 525A	CONTAINMENT SYSTEM	1	LUMP	\$1,000.00	\$1,000.00
14	849	DAMAGE ASSESSMENT	1	LUMP	\$2,500.00	\$2,500.00
15	849	SURFACE PREPARATION	1	LUMP	\$10,000.00	\$10,000.00
16	849	REPAIRING DAMAGED MEMBERS BY GRINDING	8	HOURS	\$50.00	\$400.00
17	849	STRAIGHTENING DAMAGED MEMBERS	1	LUMP	\$48,000.00	\$48,000.00
					Total:	\$154.750.00

TOTAL BID AMOUNT (REF. NO. 1 THRU REF. NO. 17)	
--	--

\$254,750.00